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sigma : int * int * (int -> int) -> int.
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type team = Korea | France | Usa | Brazil | Japan | Nigeria | Cameroon
| Poland | Portugal | Italy | Germany | Norway | Sweden | England
| Argentina

type tourna = LEAF of team

| NODE of tourna * tourna

tournas ol 3 E o] £33 129 ~AEF S 2 HIE| T+ 3 parenizes
CELREE
parenize: tourna -> string
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parenize (NODE(NODE (LEAF Korea, LEAF Portugal), LEAF Brazil))

= "((Korea Portugal) Brazil)"
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type formula = TRUE
| FALSE
| NOT of formula
| ANDALSO of formula * formula

| ORELSE of formula * formula



| IMPLY of formula * formula

| LESS of expr * expr
and expr = NUM of int
| PLUS of expr * expr
| MINUS of expr * expr
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eval : formula — bool
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do X KO+ - +d, x k"
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OCaml 221521 B} T3} o] Bejark:

type crazy2 = NIL | ZERO of crazy2 | ONE of crazy2 | MONE of crazy2
o Sol, 0+

ZERO(ONE(MONE NIL))
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St crazy2val &

crazy2val: crazy2 -> int.
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crazy2add: crazy2 * crazy2 -> crazy2
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crazy2val (crazy2add(z,z’)) = crazy2val(z) + crazy2val(z').
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type expr = NUM of int
| PLUS of expr * expr
| MINUS of expr * expr
| MULT of expr * expr
| DIVIDE of expr * expr
| MAX of expr list

eval: expr -> int
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